LTSE-2017 Engg-Med (Science Stream) (India) Answer Key

Q.No Physics Q.No [Chemistryl Q.No Logical Q.No Maths Q.No Biology
1 C 21 B 41 D 61 C 81 D
2 C 22 D 42 C 62 A 82 B
3 C 23 A 43 D 63 B 83 B
4 C 24 C 44 C 64 D 84 C
5 B 25 B 45 C 65 B 85 B
6 B 26 B 46 A 66 C 86 C
7 C 27 D 47 B 67 C 87 A
8 C 28 C 48 B 68 D 88 B
9 A 29 B 49 C 69 C 89 B
10 C 30 A 50 D 70 B 920 D
11 A 31 B 51 A 71 C 91 B
12 B 32 B 52 D 72 A 92 D
13 D 33 A 53 B 73 B 93 A
14 D 34 A 54 C 74 B 94 C
15 D 35 D 55 C 75 D 95 D
16 C 36 B 56 B 76 B 96 A
17 B 37 B 57 A 77 A 97 A
18 B 38 D 58 D 78 A 98 B
19 C 39 A 59 D 79 A 929 B
20 A 40 B 60 D 80 C 100 D

LTSE-2017 CPT-CLAT (Commerce Stream) (India) Answer Key

Q.No Logical Q.No GK Q.No English Q.No erical Ability
1 D 21 B 41 D 61 B
2 C 22 A 42 C 62 C
3 D 23 B 43 C 63 C
4 C 24 C 44 C 64 C
5 C 25 C 45 D 65 C
6 A 26 A 46 B 66 A
7 B 27 B 47 A 67 A
8 B 28 D 48 C 68 B
9 C 29 C 49 A 69 B
10 D 30 B 50 D 70 B
11 A 31 C 51 A 71 A
12 D 32 B 52 B 72 C
13 B 33 C 53 D 73 A
14 C 34 C 54 B 74 C
15 C 35 A 55 A 75 B
16 B 36 C 56 D 76 B
17 A 37 C 57 C 77 A
18 D 38 C 58 D 78 D
19 D 39 B 59 B 79 C
20 D 40 B 60 B 80 C




LTSE-2017 Engg-Med (Science Stream) (Gulf) Answer Key

Q.No pulf-Physiq¢ Q.No jlf-Chemis|{ Q.No Sulf-Logicd Q.No [ulf-Mathy Q.No pulf-Biolog
1 D 21 B 41 D 61 D 81 B
2 C 22 D 42 B 62 A 82 C
3 C 23 B 43 A 63 A 83 B
4 D 24 A 44 B 64 D 84 C
5 B 25 A 45 C 65 B 85 B
6 B 26 B 46 C 66 D 86 C
7 C 27 C 47 B 67 B 87 B
8 A 28 C 48 D 68 D 88 A
9 B 29 B 49 D 69 B 89 C
10 C 30 B 50 A 70 B 920 D
11 D 31 A 51 D 71 D 91 C
12 B 32 B 52 B 72 A 92 B
13 B 33 D 53 A 73 B 93 D
14 D 34 B 54 D 74 C 94 D
15 D 35 C 55 C 75 D 95 C
16 A 36 B 56 B 76 A 96 A
17 B 37 B 57 A 77 C 97 C
18 B 38 D 58 C 78 D 98 C
19 A 39 A 59 D 79 A 929 C
20 A 40 B 60 D 80 D 100 D

Colour indicates that the question is the same in India and Gulf.
LTSE-2017 CPT-CLAT (Commerce Stream) (Gulf) Answer Key

Q.No pulf-Logicg Q.No Gulf-GK Q.No pulf-Englis|l Q.No [f-NumAbility
1 D 21 B 41 B 61 A
2 B 22 C 42 A 62 D
3 A 23 B 43 B 63 A
4 B 24 D 44 B 64 B
5 C 25 A 45 B 65 C
6 C 26 C 46 A 66 B
7 B 27 B 47 C 67 A
8 D 28 D 48 C 68 B
9 D 29 C 49 D 69 B
10 A 30 B 50 C 70 A
11 D 31 C 51 B 71 C
12 B 32 D 52 A 72 B
13 A 33 B 53 A 73 C
14 D 34 A 54 A 74 A
15 C 35 C 55 B 75 A
16 B 36 C 56 C 76 C
17 A 37 B 57 A 77 C
18 C 38 D 58 C 78 A
19 D 39 A 59 D 79 D
20 D 40 D 60 B 80 C




Section Q.No |lIssue Remarks
Meaning lost during
Physics 3 translation. Ambiguity. Question can be ignored.
Option C wrongly translated |Question can be kept as it is since
Physics 5 and Option D is missing. correct answer is option B.
Correction is good to have but not
Physics 6 Minor correction must.
Option B and D partially Question can be kept as it is since
Physics 7 printed. correct answer is option C.
Physics 10 Numeric values wrong. Question can be ignored.
Words "Curvilinear" and
"Translational" not Correction is good to have but not
Physics 14 translated. must. Debatable.
Meaning lost during
Physics 17 translation. Ambiguity. Question can be ignored.
Translation incomplete.
Square root symbol printed
Physics 18 asv. Question can be ignored.
Question can be kept as it is. For
Question is correct but both the questions, Option D is
Logical 41 different from English paper. |correct.
Question can be kept as it is. For
Question is correct but both the questions, Option C is
Logical 42 different from English paper. |correct.
Meaning lost during
Logical 43 translation. Ambiguity. Question can be ignored.
Question can be kept as it is. In
Question is correct but English paper option D is correct;
Logical 52 different from English paper. [In Urdu, Option B is correct.
Correction is good to have but not
A keyword word is must since a smart student can
Logical 56 incorrectly translated. perhaps make it out.
In maths expression, 2m is
Maths 69 printed as 2-m. Question can be ignored.
Bio 82 Options are missing. Question can be ignored.
"4.5 to 5.5 million" printed
as "4.5 to 5.5" and units
Bio 98 "cells/mm3" missing. Question can be ignored.




